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O= &l 4,000,000& 4,000
202 Oddl 12,000 10,800 1,200
01 = LH 4 Hi 12,000 10,800 1,200
SETA AR el 12,000, 000& 12,000
203 YR =2l 500 500 0
03 Al =AY R =& 500 500 0
OSE XA HE2F&A 500,000& 500
OlmMg 2s 19,480 22,516 A 3,036
< 14,000
[ia 5,480
ol OlMel & 19,480 22,516 A 3,036
< 14,000
[ia 5,480
201 Let24d] 480 480 0
02 =24l 480 480 0
OMol s =X SEZFEANAE SRS
0,000&x12& 480
301 YptE A 19,000 22,036 £3,036
< 14,000
s 5,000
01 AR 2Z A 53 17,980 21,016 A 3,036
SEISHTH HlohH o= XI& 500,000& =10l CH 5,000
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OZHIEx= A 12,980
— 0l S=+=4l 12,980,000& 12,980
< 12,980
09 HALAHIEA S 1,020 1,020 0
OZHIEx= AL 1,020
— Mol = W=l 1,020,000 1,020
= 1,020
I MEEH 7,094,540 8,035,759 A941,219
= 5,658,068
< 692,361
s 744,111
ST MHEBEE WA S 35,750 42,350 A 6,600
Jlz=dex>g it MeXa 35,750 42,350 26,600
201 2et2d]| 7,570 8,210 A 640
01 At 2teltl 7,570 8,210 A 640
O+t 1,650,000 1,650
OfIds 29 =¢ 70,000 x8F 62 3,360
O= &l 2,560,000 2,560
202 O4dl 7,680 8,640 A 960
01 = LH 4 Hi 7,680 8,640 A 960
OJIZdasZad dRFA 7,680,000 7,680
203 YR =& 500 500 0
03 A FXH S =ZH| 500 500 0
OMAEE 2l g2F2 500,000& 500
301 LAz 20,000 25,000 A5,000
01 AR 2Z A 53 20,000 25,000 25,000
OstMeta2d X3 20,000,000& 20,000
=0 EIMM4H X 7,058,790 7,993,409 A 934,619
= 5,658,068
< 692,361
s 708,361
ME= = | 16,000 15,090 910
308 MXIEHSOIH 16,000 15,090 910
08 WSII20HetE = 16,000 15,090 910
OJIZussS0d=Si NS0 ZHRES
16,000, 000& 16,000
HAS A 6,829,622 7,791,352 A 961,730
= 5,463,698
< 682,962
s 682,962
301 LA Z 6,829,622 7,791,352 A 961,730
= 5,463,698
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= 682,962
= 682,962
01 Al B & A 462 6,829,622 7,791,352 A 961,730
OZHIEXZAY 6,829,622
—JZMALS AL UEE) MHAS0
6,829,622,000& 6,829,622
= 5,463,698
= 682,962
= 682,962
HAMEMZ2 72,653 64,303 8,350
= 58,123
= 7,265
= 7,265
301 et A= 72,653 64,303 8,350
= 58,123
=} 7,265
= 7,265
01 Al E&E A 2623 72,653 64,303 8,350
OZHIEZAY 72,653
— )| =MELEZ2T A E2H20
72,653,000 72,653
= 58,123
& 7,265
= 7,265
U2SOI (I =2 KH) 119,173 101,322 17,851
= 119,173
301 LBt A= 119,173 101,322 17,851
= 119,173
01 Al E & A 462 119,173 101,322 17,851
O=2HIExZAY 119,173
—JZMELZA EEL280I
119,173,000 119,173
= 119,173
UZSIOI(XARAHES) 21,342 21,342 0
= 17,074
= 2,134
= 2,134
301 et A= 21,342 21,342 0
= 17,074
= 2,134
= 2,134
01 Al B & A 46 2 21,342 21,342 0
OZHIEXZAY 21,342
— XAaRAAS K280 XS 21,342,000 21,342
= 17,074
&< 2,134
= 2,134
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04 JI2ZtHIZ22NEE S 105,420 105,420 0
OZHEXZAY 105,420
—NAS ANMRAHES EEXNE MY
105,420,000 105,420
o= 52,710
= 52,710
22s8EAes =39 €43 XN (HEI) 29,877 48,556 A 18,679
= 23,901
= 1,793
= 4,183
307 2I2t0| ™ 29,877 48,556 A 18,679
= 23,901
= 1,793
= 4,183
05 QIZtREZ 29,877 0 29,877
OZHIEXZAY 29,877
— YIS SEA 29,877,000 29,877
= 23,901
& 1,793
= 4,183
22sEUe=E =39 Ex3 XK (A1) 12,957 14,907 A 1,950
= 10,366
= 777
= 1,814
307 QI2t0| ™ 12,957 14,907 A 1,950
= 10,366
= 777
iy 1,814
05 QIZtREZ 12,957 0 12,957
OZHIBEXZAY 12,957
— S UISEHAL(I) 12,957,000 12,957
= 10,366
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= 1,814
22U =2 X9 E42 XHA(5U2) 51,216 48,201 3,015
= 40,973
& 3,073
= 7,170
307 QI2t0| ™ 51,216 48,201 3,015
= 40,973
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= 7,170
05 QIZtRES 51,216 0 51,216
OZHIEZANY 51,216
— S UISESEHAA(I) 51,216,000 51,216




D D D < <t Al © © © Ye)
S S 0 < < < — — — NS
@ @ @ < < © © © it N
Ao © 2 % - 8 3 3 &
Klo . . .
E
E=]
o o o © © o () o o o
[T} Yo} [0} [0}
() () Y] Y]
=i =i - -
H3r
m<l
RS
oD M O D M~ Al O D M~ A O ()] (@) D M~ Al O Al — O ™M Al — O M Al [qV] Al — O M O o — A O M — © (<o) O M — A Ye)
N~ N~ N~ ©HH O O v 0O O o) [Ye) v 0 O O < O ™M Al < O ™M Al <t <t < O ™M Al — = — — = — — — — = — O N~
o S =0 XN —|® 0N = |® 0 @ ON—HS—®O[n S -®[n v Wwo-®mln od|W oo v 1w oo
O O N~ D M — < D M — < ()] (o] D M — <t — — — — — ™ © o ™ O O ™ o ™ © O © o
aor
<
=)
i 4 W m W Wt W W W mwm W W
] o] i
o o o
— o o o
0t < — < <
or =~ 2 5 8 ©
X0 &0 © 80 © 0
1] ol m 0H - 3
5 | ar \PI.,1
3 R & 0
=< U o - ur
I+ = = 30 <A
= ol 0H I
< no = no a
" ur nJ
. <k () <k - o
= o 140 i o ol ol
= — =4 =
_ 0f0 _ D no - 7
o > ™ % & = B 3 M0 =
e = % =z W FET® =
< um m K um m K & h REOKI RO i
pd i oW pd ir 80 20 R0 MW i
- N S F D R J S o D Ko ™ H Do K i)
Rl 5% & A 53 o AT o 5 oo %
RO ar al al O ar al al O RY] all =z O il
. JIo 5 9 Jlo B 9 () pay pay =
x M ® W ® il & 3r
o+ r ] =4 =




A FUEX L
HE: HASS MEOUF N
G MASE NEsY Y (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 16,292
= 2,095
= 4,888
402 SI2FXHE0| & 23,275 0 23,275
= 16,292
= 2,095
= 4,888
02 BIZtXIEANYEX(0OIETHS) 23,275 0 23,275
O32HEBEZAY 23,275
— KNG XNEEE SHINLAIY 23,275,000 23,275
= 16,292
= 2,095
= 4,888
KHENAIYE MAXN AT ZEHE 2= K& 15,000 0 15,000
& 7,500
= 7,500
402 SI2FXHE0| & 15,000 0 15,000
== 7,500
= 7,500
02 CIZEXIEAISEX (0| XM THL) 15,000 0 15,000
OEHEXZAY 15,000
—REAY MUH AXje BAE 2= X
15,000,000 15,000
o=} 7,500
= 7,500
ISEEE— - DNEDNE- 276,900 266,700 10,200
= 21,950
= 254,950
MIIANEE HHd=220 XH 70,000 70,000 0
301 et A= 70,000 70,000 0
01 Al E& A 462 70,000 70,000 0
O0dd& 20 2 AIFEXAIE A2
25,000& *1,400 Al CH *23] 70,000
MASIHE & 150,600 150,600 0
301 LBt A= 150,600 150,600 0
01 Al E & A 462 150,000 150,000 0
OXAAAHE AAEEE X2 66,000,000 66,000
OArA & Myl2etXt 212323 Hl K&
9,000,000& 9,000
OXMRAHSES EAHH=Z NS 75,000,000 75,000
12 JIEtE2 A= 600 600 0
O8aol gk AH 24 20,000 30X 600
MASS MM st =2 25,300 15,100 10,200
& 12,650
= 12,650
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@ HASE =X N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 25,300 15,100 10,200
< 12,650
s 12,650
01 MEI2EZE 45z 25,300 15,100 10,200
OZHIEx= AL 25,300
~HASS MY Y8t FHIZ N
25,300,000& 25,300
< 12,650
[ia 12,650
HASS U4 HESAY 31,000 31,000 0
< 9,300
e 21,700
301 et A= 31,000 31,000 0
< 9,300
i 21,700
01 MEIBEE 053 31,000 31,000 0
OEHIEXAY 31,000
—HASE tH UEZAY 31,000, 000& 31,000
< 9,300
s 21,700
Lo =X s 54,891,451 48,992,970 5,898,481
= 40,652,412
< 2,490,577
s 11,748,462
Lol A A 2 X 4,267,890 3,756,246 511,644
= 271,591
< 540,908
s 3,455,391
LoEs A& 552,385 322,761 229,624
201 ¢4l 10,260 10,320 A 60
01 At 22l 10,260 10,320 A 60
O e8| 6,260,000& 6,260
O= &l 4,000,000& 4,000
202 o4l 12,000 8,640 3,360
01 = LH 4 Hi 12,000 8,640 3,360
Oko=Xzad g5 & MK
12,000, 000& 12,000
203 ¥ S =&l 1,000 1,000 0
03 AIHF=AH R =AH| 1,000 1,000 0
ok ENgex=a 1,000, 000& 1,000
301 et d = 98,300 24,000 74,300
01 MEI2EZE 406z 98,300 24,000 74,300
OZ2Y d=Jl B2 55,800,000& 55,800
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307 glztol & 430,825 278,801 152,024
03 HAHMEE2LHES 68,820 68,820 0
Okels X& 68,820,000 68,820
11T AS S RAEE = 362,005 209,981 152,024
Lolthser 29 15,881,000& 15,881
OXNYASAANERE &3l 10,400,000& 10,400
celoy JgdEAMN & F2AHEX S
255,000,000 255,000
OXNEX 8= 2,700,000 2,700
OXs &I HolE= Hal € s=zUal
10,000, 000& 10,000
Odcet2t ==Zi3 1,000,000& 1,000
O4= 2HA0IE= &l = 10,000,000& 10,000
ONSEHE MAS Lo AAHEYE ALY
57,024,000 57,024
LQOHES NEXNE ALY 218,704 209,920 8,784
=) 84,454
a 134,250
301 et d=s 60,030 59,170 860
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= 32,626
01 MEI2EZE 6= 55,330 55,330 0
OSHIEXZAY 55,330
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a 3,915
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< 768
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OZHEx= A 2,500
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307 glztol & 158,674 148,750 9,924
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10 AR SAAEHISSHIEX 1,090,695 982,844 107,851
O=HIEx At 1,090,695

—3d2E eyl 836,800,000& 836,800
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313,800
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cHel: Lol aQZS 2 B2s N (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 49,068
= 932,292
10 Al SEXAIEEE2IHIBX 878,437 809,480 68,957
OEHIEXAY 878,437
—d2g 29| 878,437,000& 878,437
& 43,922
= 834,515
11 A SAAEEXR 102,923 85,000 17,923
OEHIEXAY 102,923
—d2Y &3xz ) 29 102,923, 000& 102,923
& 5,146
= 97,777
d2Y0l8 43 1,277,722 1,254,602 23,120
201 Bt A H| 3,000 3,000 0
01 AFR2 2t 2l Yl 3,000 3,000 0
odz% NEX usuwi M= 3,000,000& 3,000
301 dEtE A= 1,100,000 1,100,000 0
01 AL B & X %352 1,100,000 1,100,000 0
Odg4 24| 1,100,000,000& 1,100,000
307 ©12+OI & 174,722 151,602 23,120
EEE] 60,000 60,000 0
odz4d Bga 60,000,000& 60,000
10 Al SEXAIEEE2IHIBX 114,722 91,602 23,120
O=z3d=zY 29l 64,800,000& 64,800
OZ2% =3lZz)d 22X oA S
29,522,000& 29,522
OZ2Y 2¥eE4ds =200 XN MY
20,400,000& 20,400
SE HAAIE 22 127,024 71,639 55,385
101 @121l 12,024 9,639 2,385
04 JI2ZtH 22 XNEE X 12,024 9,639 2,385
Osdsoy &gl o2y 66,800& *2H x90 12,024
201 Bt A | 5,000 2,000 3,000
01 At 22l Yl 3,000 1,000 2,000
OFMNER EEZ M 500, 000& *24! 1,000
Os&d38oY Litx=ZH| 2,000,000 2,000
02 352494l 2,000 1,000 1,000
OAlI& & Hl s XYl 1,000,000& *x24! 2,000
301 dEtE A= 95,000 60,000 35,000
12 JIEtE &2 95,000 60,000 35,000
Ost&E&EAS 90,000,000& 90,000
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M Lol=x B
Sl ol AUAF U BE X CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OSPAHAD K (S ALAH) ZHHHI 5,000
401 A& H|IZ 2 0HY| 10,000 0 10,000
01 Al& B 10,000 0 10,000
O2&£=sote 2 S 5,000,000 =24l 10,000
802 Btet= DI Ef 5,000 0 5,000
03 =S 5,000 0 5,000
O2EL20oted K3 BHEA| BHE =2 5,000,000 5,000
CEME OFN X& 45,221,459 40,936,692 4,284,767
= 40,359,896
& 1,028,808
= 3,832,755
=2 X2 43,586,297 39,477,344 4,108,953
= 39,227,667
&< 871,726
= 3,486,904
301 et A= 43,586,297 39,477,344 4,108,953
= 39,227,667
& 871,726
= 3,486,904
01 Al E & A 462 43,586,297 39,477,344 4,108,953
O2HEBEXZAY 43,586,297
—Jlx32 43,586,297,000& 43,586,297
= 39,227,667
& 871,726
= 3,486,904
LolE8l|I2 N8I AAY K& 923,447 842,386 81,061
= 646,412
== 83,111
= 193,924
307 2Iz2to| A 923,447 842,386 81,061
= 646,412
= 83,111
= 193,924
11T AISIEXAIEEX 923,447 842,386 81,061
O2HIBExZAY 923,447
— Lo =EE Jl2 NMHIAAMY A
923,447,000 923,447
= 646,412
= 83,111
= 193,924
LoSEI|IEMUAAMY XK (ZSSAMEA S BX) 646,702 560,897 85,805
= 452 696
& 58,203
= 135,803
307 QI2t0| & 646,702 560,897 85,805
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24,200
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A FUEX L
M Lol=x B
e SME oty I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,900
= 1,899
11T A EXAIEEX 7,599 4,195 3,404
OZHIEXZAY 7,599
—EHLQ0 SIS ANHA 2EXR(H
H EAlH & X224 HE) 7,599,000 7,599
= 3,800
= 1,900
= 1,899
SENLESZTHC St A HHI A (D2 2| 6,000 10,488 A4 488
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